Quantitation Report (QT Reviewed)

Data Path : Z:\HPCHEMI1\BNA E\Data\BE072117\
Data File : BE093515.D

Aca On = 21 Jul 2017 19:17

Operator : SJ/JU

Sample : 14199-02

Misc :

ALS Vial : 4 Sample Multiplier: 1

Quant Time: Jul 22 02:12:44 2017

Quant Method : Z:\HPCHEM1\BNA E\METHODS\8270-SIM-BE072117_.M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION
QOLast Update : Fri Jul 21 16:13:20 2017

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) 1.4-Dichlorobenzene-d4 7.931 152 3408 0.40 nag 0.00
7) Naphthalene-d8 10.707 136 16658 0.40 nqg 0.00

13) Acenaphthene-d10 14.525 164 10599 0.40 ng 0.00
19) Phenanthrene-d10 17.235 188 27344 0.40 nqg 0.00

27) Chrysene-di2 21.415 240 35315 0.40 nag 0.00

34) Perylene-di12 23.916 264 29870 0.40 ng 0.00

Svstem Monitorina Compounds
4) 2-Fluorophenol 5.514 112 1851 0.16 na 0.00
5) Phenol-d6 7.100 99 1852 0.11 na 0.00
8) Nitrobenzene-d5 9.062 82 5078 0.38 na 0.00

11) 2-Methvlnaphthalene-d10 12.291 152 9523 0.35 na 0.00
14) 2.4.6-Tribromophenol 15.996 330 1265 0.33 na 0.00
15) 2-Fluorobiphenvl 13.162 172 22158 0.53 na 0.00

25) Fluoranthene-d10 19.275 212 140930 0.32 na 0.00

29) Terphenyl-dl4 19.859 244 55669 0.87 ng 0.00

Target Compounds Qvalue

22) Pentachlorophenol 16.909 266 739 0.28 na 95

32) Bis(2-ethylhexyD)phtha... 21.315 149 41698 0.18 ng 98

(#) = qualifier out of range (m) = manual integration (+) = signals summed

8270-SIM-BEO72117 .M Mon Jul 24 12:22:55 2017 Page: 1



Quantitation Report (QT Reviewed)

Data Path : Z:\HPCHEM1\BNA E\Data\BE072117\
Data File : BE093515.D

Aca On 21 Jul 2017 19:17

Operator : SJ/JU

Sample : 14199-02

Misc :

ALS Vial : 4 Sample Multiplier: 1

Quant Time: Jul 22 02:12:44 2017

Quant Method : Z:\HPCHEM1\BNA E\METHODS\8270-SIM-BE072117_.M
Quant Title ASP BNA STANDARDS FOR 5 POINT CALIBRATION
OLast Update Fri Jul 21 16:13:20 2017

Response via Initial Calibration

Abundance TIC: BE093515.D\data.ms
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